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Part A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark

the correct choice on your answer sheet.

61- By the time | met Fred, he .................. his studies at Oxford University.

1) did already finish

2) would already finish

3) has already finished 4) had already finished

62- Mary had a terrible stomachache and .................. | suggested that she visit a doctor.

1) on the other hand

2) nevertheless

AR
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3) therefore 4) furthermore

63- Some people have .................... use for credit cards because they carry cash with them wherever they

go. (source: iran arze website)

1) little 2) a little 3) few 4) a few

64- The cell phone is an invention that .......................... the way people communicate.

1) had phone changing 2) has been changed

4) will be changed 4) has changed

65- The people ....................... for the smoke detectors came and installed them yesterday.
1) are responsible 2) responsible

3) they responsible 4) who responsible

66- Tom looked quite happy in ..................... to those around him, who were all sad and depressed.
1) conflict 2) contrast 3) condition 4) confidence

67- Doctors advise that some diseases can ....................... the balance of water in the body.
1) disturb 2) distract 3) define 4) devote

68- An .........cccu........ Item of the uniform is a wool jachet for winter and a college blazer.

1) emotional 2) industrial 3) additional 4) environmental

69- Italics are sometimes used to ...................... Certain words and expressions in a text.

1) summarize 2) accomplish 3) supplement 4) emphasize

70- ...ceeeereeneeeeeneeer, there are no more tickets available for the movie we want to see.

1) Unfortunately 2) Appropriately 3) Subsequently 4) Continuously

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers eaxh

question. Then mark your answer on your answer sheet.

Ada Lovelace was the saughter of the poet Lord Byron. She was taught by Mary Somerville, a well-known
researcher and scientific author, who introduced her to Charles Babbage in June 1833- Babbage was an
Englilsh mathematician, who first had the idea for a programmable computer.

In 1842 and 1843, Ada translated the work of an Italian mathematician, Luigi Menabrea, on Babbage’s

Analytical Engine. Though mechanical, this machine was an important step in the history of computers; it

\Y
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was the design of a mechanical general-purpose computer. Babbage worked on it for many years until his
death in 1871- However, because of financial, political, and legal issues, the engine was never buit. The
design of the machine was very modern; it anticipated the first completed general-purpose computers by
about 100 years.
When Ada translated the article, she added a set of notes which specified in complete detail a method for
calculating certain numbers with the Analytical Engine, which have since been recognized by historians as
the world’s first computer program.
71- Which of the following statements is true?
1) Luigi Menabrea was Ada Lovelace’s teacher.
2) Mary Somerville was Ada Lovelace’s teacher.
3) Ada Lovelace was Mary Somerville’s daughter.
4) Lord Byron introduced Ada Lovelace to Charles Babbage.
72- Who first had the idea for a programmable computer? {iranarze.ir}
1) Mary Somerville 2) Luigi Menabrea
3) Ada Lovelace 4) Charles Babbage
73- The word “it” in paragraph 2 refers to ................
1) the history 2) this machine
3) an important step 4) a mechanical general-purpose computer
74- According to the passage, the engine was never built for all of the following reasons EXCEPT ...............
issues.
1) political 2) legal 3) social 4) economic
75- The word “specified” in paragraph 3 is closest in meaning to .......cccccceeeueeee
1) identified 2) magnified 3) qualified 4) satisfied
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Part A: Grammar and Vocabulary

Directions: Choose the words or phrases (1), (2), (3), or (4) That best completes each sentence.

Then mark the correct choice on your answer sheet.

61-The news about the effects of air pollution on the development of children's lungs .........c......

disturbing.
1) are 2) is 3)itis 4) they are
62- Ivan .........cccecuc........ to get a promotion to manager, but the management chose someone from

outside the company.

1) had supposed 2) is supposing 3) was supposed 4) has supposed

63- Please be quiet when you go into the baby’s room. She ....................... and we don’t want her to wake

up and begin to cry.

1) may have slept 2) must have slept
3) might be sleeping 4) she will be sleeping
64- Most of the chocolate ........................ today is not drunk, but eaten, thanks to a chocolatier in England,

who produced the first solid chocolate in the 19th century.

1) consumed 2) consuming 3) is consumed 4) that is consuming
65- The students would certainly have solved the problem more easily if they ............... Their calculators.
1) have used 2) would use 3) used 4) had used
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66- In order to provide a complete report, George and his staff ........................ the graphs and charts into

the written text.

1) incorporate 2) demonstrate 3) investigate 4) manipulate

67- Jeremy has to return the software back to the store because it is not ...................... With his computer.
1) plausible 2) accessible 3) compatible 4) divisible

68- the farmer’s tomato plant aren’t fully........................., So he will let them grow a little while longer.

1) abrupt 2) mature 3) explicit 4) sufficient

69- The man received over a million dollars in ....................... for the loss of his limb.

1) constitution 2) facilitation 3) foundation 4) compensation

70- Books, unlike paintings, must be apprehended .................. , line by line, rather than instantaneously.

1) approximately 2) sequentially

3) subsequently 4) reluctantly

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers each

question. Then mark your answer on your answer sheet.

The markers of a controversial computer game about bullying have decided to go ahead and launch it
despite calls for it to be banned. In the game, players take on the role of a new students at a school and
have to fight the bullies, by punching them or hitting them with a baseball bat.

Critics have said that the game encourages violence, but the makers deny this and say that, while there
is violence in the game, it is just an amusing look at school life. Moreover, the violence in the game is
directed against the bullies to protect pupils who are being bullied. The makers also say that players will
learn to stand up to bullies.

A British politician, a former minister, has called for it to be banned as it might affect the way young people
perceive violence. Anti-bullying charities have said that the game might make people respond violently to
bullies, which might make things more complicated and result in injuries.

71- Which of the following is the best title for the passage? (source: iran arze website)

1) A Controversial Computer Game 2) Never Fight the Bullies

YA
1WA D121 b ol o519 otudiant OY g 200A 09§ —piid 31,21 S olKiwd 1,5 Y Juad



(o Vs TTAU]]T]|
3) Anti-bullying Charities 4) Dangerous Games
72- The word "take on" in paragraph 1 is similar in meaning to .........ccccucueuce.
1) illustrate 2) terminate 3) undertake 4) exclude
73- What does the word “this” in paragraph 2 refer to?
1) Violence 2) The game
3)that the game should be banned 4) That the game encourages violence
74- The markers of the game say that the game will do all of the following EXCEPT ................ .
1) telling students how to use a baseball bat against the bullies
2) teaching students that they need to be violent at times
3) protecting students who are being bullied
4) providing an amusing look at school life
75- Anti- bullying organizations are against the game because it might ......................
1) affect the way young people interpret violence
2) encourage British politicians not to ban it at all
3) make people respond violently to bullies

4) make life more complicated for bullies
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Part A. Grammar and vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet.

61- | showed my father a picture of the car ................... | am going to buy as soon as | have enough money.
1) who 2) that 3) what 4) that which

62- Anita went to the dentist ............... get some relief from her toothache. (prepared by iranarze.ir)

1) in order that 2) so that 3) in order to 4) so as

63- The announcement created a lot of .................. among the young student.

1) extinction 2) experience 3) explosion 4) excitement

64- The cruise ship had to speed up in order to reach in ................ before the storm.

1) instruction 2) promotion 3) concentration 4) destination

Part A. Grammar and vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet. (www.iranarze.ir)

s g yol,S A iy

o JsoSs JSib i a2 ) alox 5 oS auS Wbl 1) cawlio 43S (€) 9 () «P) (1) sl 43S g I iolounsgs
i) CaoMe anly a5y 53 ) o G . 3S

65- Tipping is a common practice throughout the world,....... the custom can differ considerably among

countries.
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1) on the contrary 2) however 3) despite 4) although

66- Ali was ........... quick learner that he was put in a more advanced class after two weeks.
1) such a 2) such 3) so 4) very

67- Shopping during the holidays can be............. expensive than at other times of the year.
1) the more 2) the most 3) more 4) most

68- According to estimates, her daughter's contribution was 62% of the total household ....... .
1) victory 2) mission 3) income 4) instrument

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2) , (3), or (4) that best answers each

question. Then mark your answer on your answer sheet.

The Taj mahal is a famous mausoleum next to the river Yamuna in the Indian city of Agra. A mausoleum is
a building where people bury the dead. The name Taj Mahal means ‘the crown of palaces’. The most famous
part of the Taj Mahal is the large white dome in the center. It is 35 meters high and is surrounded by four
smaller domes. The rooms inside the building are decorated with beautiful archways and precious stones
in the walls. The buildings are surrounded by gardens with pathways, pools, fountains and green gardens.
The construction of the Taj Mahal began in 1632 and finished in 1653- It was built with materials from all
over India and Asia, but the main material is white marble. Historians believe that the materials were
transported by over 1,000 elephants for the construction.

The emperor Shah Jahan built the Taj Mahal as a burial place for his wife, Mumtaz Mahal. According to
legend, he wanted to build another Taj Mahal in black on the other side of the river, but this never happened.
During the Indian Rebellion of 1857, many parts of the Taj Mahal were damaged by British soldiers, who
took some of the precious stones from its walls. Over the years, the Taj Mahal has suffered from
environmental damage, and there have been many government attempts to conserve its beauty.

69- How long did the construction of the Taj Mahal test?

1) 53 years 2) 35 years 3) 33 years 4) 21 years

70- Which of the following statements is true?

1) Mumtaz mahal. The emperor Shah Jahan’s wife, was buried in the Taj Mahal.

2) The emperor Shah Jahan build the Taj Mahal during the Indian Rebellion.
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3) The Taj Mahal was completely destroyed by British soldiers in 1857.
4) The Taj Mahal was built with materials from all over the world.
71- The word “this” in paragraph 2 refers to ......ccceereerveseennans
1) building another Taj Mahal in black 2) the other side
3) the river 4) legend

72- The word “conserve” in paragraph 2 means .......cccoceeeveseeeernenss

1) support 2) transfer 3) protect 4) observe

73- Firefighters were able to ....... all of the building's residents but could not save a few of the pets.
1) rescue 2) assume 3) distract 4) enhance

74- It was in 1844 that the work of this great inventor was ....... demonstrated to the world.

1) exactly 2) publicly 3) formerly 4) relevantly

The Taj mahal is a famous mausoleum next to the river Yamuna in the Indian city of Agra. A mausoleum is
a building where people bury the dead. The name Taj Mahal means ‘the crown of palaces’. The most famous
part of the Taj Mahal is the large white dome in the center. It is 35 meters high and is surrounded by four
smaller domes. The rooms inside the building are decorated with beautiful archways and precious stones
in the walls. The buildings are surrounded by gardens with pathways, pools, fountains and green gardens.
The construction of the Taj Mahal began in 1632 and finished in 1653. It was built with materials from all
over India and Asia, but the main material is white marble. Historians believe that the materials were
transported by over 1,000 elephants for the construction.

The emperor Shah Jahan built the Taj Mahal as a burial place for his wife, Mumtaz Mahal. According to
legend, he wanted to build another Taj Mahal in black on the other side of the river, but this never happened.
During the Indian Rebellion of 1857, many parts of the Taj Mahal were damaged by British soldiers, who
took some of the precious stones from its walls. Over the years, the Taj Mahal has suffered from
environmental damage, and there have been many government attempts to conserve its beauty.

75- which of the following statements is true?

1) the name Taj Mahal means a building where people bury the dead

2) the Taj Mahal is famous for the large white dome in the center
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3) the word mausoleum means the crown of palaces

4) the four smaller domes are 35 meters high
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Part A. Grammar and vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet.

29- Research has shown that children ............... violent video games tend to become more aggressive.
1) whom they watch 2) who watching

3) watch 4) watching

30- ...ccccevevesennenee.. that adults and children have different tolerance levels for chemicals. (iranarze)
1) that is has believed 2) It is believed

3) It believed 4) Believing

31- If we increased the price, we ................... The risk of pricing ourselves out of the market.

1) would have run 2) would run

3) have run 4) ran

32- you didn’t tell me it was Harriet's birthday yesterday. Now she’s angry at me because | forgot. You

.eeeeeeeeeee ME @about it earlier.

1) should have told 2) must have told

3) should tell 4) must tell

33- During the first ............... weeks of university days, | was confronted with unforeseen difficulties.

1) a few of the 2) few of 3) few 4) a few

34- will you ............ your interest in the event by returning the response card as soon as possible?

1) accommodate 2) acknowledge 3) contemplate 4) contradict

35- With several clogged arteries, the unhealthy man had a serious .................. to lost weight and get fit.
1) margin 2) portion 3) income 4) motive

36- It is probably the most difficult point raised and perhaps the one which deserves the most ................
explanation.
1) contemporary 2) contradictory ~ 3) comprehensive  4) contemptuous

37- The figures are so big that there is a risk that we may not see them in their proper ..........
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1) proportion 2) participation 3) promotion 4) precision
38- As a(Nn) ....ccoeerneneeeene. Fisk-taker, Bob enjoyed exploring dark caves in his spare time.
1) meticulous 2) ambiguous 3) conspicuous 4) adventurous

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2),(3), or (4) that best answers each

question. Then mark your answer on your answer sheet.

A recent survey has shown that the number of people in the United Kingdom who do not intend to get
internet access has risen. These people, who are known as “net refuseniks”, make up 44% of UK
households, or 11.2 million people in total. The research also showed that more than 70 percent of these
people said that they were not interested in getting connected to the internet. This number has risen from
just over 50% in 2005, with most giving lack of computer skills as a reason for not getting internet access,
though some also said it was because of the cost.

More and more people are getting broadband and high-speed net is available almost everywhere in the
UK, but there are still a significant number of people who refuse to take the first step. The cost of getting
online is going down and internet speeds are increasing, so many see the main challenge to be explaining
the relevance of the internet to this group. This would encourage them to get connected before they are
left too far behind. The gap between those who use the internet and those who do not is the digital divide,
and if the gap continues to widen, those without access will get left behind and miss out on many
opportunities, especially in their careers.

39- Which of the following is the best title for the passage?

1) Refusing to Take the First step

2) The Advantages of Using the Internet

3) How Life Would Be Without the Internet

4) The Digital Divide in the United Kingdom

40- Which of the following statements is true?

1) About 44% of the households in Europe do not intend to get connected to the internet.
2) More and more people are getting broadband services in the United Kingdom.

3) More than 70% of UK households are not interested in using the internet.

o1
1WA D121 b ol o519 otudiant OY g 400A 09 5 —piid 31,21 Sl olKiwd 519 :F fuid



(o Vs TTAU]]T]|
4) About 11.2 million people in the world have no access to the internet.
41- Which reasons do people offer for showing no interest in using the internet?
1) Lack of computer skills and technical problems
2) Computer illiteracy and cultural factors
3) Lack of computer skills and the cost
4) Economic and cultural problems
42- The word “relevance” in paragraph 2 is closest meaning to ................ .
1) applicability 2) originality 3) superiority 4) familiarity
43- The word “their” in paragraph 2 refers to ...................... . - author iran arze online shop -
1) people using the internet 2) many opportunities

3) net refuseniks 4) those
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Part A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.
61- In 2010, the planetary defense team at NASA ...... and logged 90 percent of the asteroids near Earth
measuring 1 km wide.
1) which has identified 2) that had identified
3) had identified 4) was identifying
62- Jung held important positions in the psychoanalytic movement and ................... of as the most likely

successor to the founder of psychoanalysis.

1) was widely thought 2) was widely thinking
3) he was wide thought 4) widely thought
63- Montessori's method differed from conventional pedagogies ................ put a premium on freedom of

movement and choice for students (prepared by iranarze.ir).

1) which it 2) in which it
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3) in that it 4) for which she
64- ................. have shown that having a hobby can make you more productive at work, but hobbies can
also remind you that work isn't everything.
1) That studies 2) Studies
3) Because studies 4) Although studies

65- Given that the majority of people in the industrialized world live in cities, it is not surprising that urban

geography has received ................ rural geography.

1) many more attention than 2) much more attention than

3) a lot of more attention that 4) a lot more attention that

66- You need to have at least a(n) ............. understanding of technology before you can upload a video

on that website.

1) outlandish 2) prevalent 3) formidable 4) rudimentary

67- The willingness on both sides to ...................... territory has been found incredibly odd.

1) relinquish 2) discriminate 3) humiliate 4) stigmatize

68- Engineers are working on a giant, synthetic, robo - jellyfish, which one day could ............... patrol the
high seas.

1) suspiciously 2) notoriously 3) autonomously 4) ambiguously

69- The author .................. the application of this method in its adapted form in the context of her own
research.

1) deserves 2) petitions 3) irrigates 4) illustrates

70- It's the first time that a lawyer of such .............. has been given the freedom to air his views on TV.

1) prominence 2) adherence 3) emergence 4) subsidence

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers each
question. Then mark your answer on your answer sheet.

In the 1950s, Central American commercial banana growers were facing the death of their most lucrative
product, the Gros Michel banana, known as Big Mike. And now it's happening again to Big Mike’s successor

- the Cavendish.

A
1WA D121 b ol o519 otudiant OY g 500A 0 5 — i 31321 51 olKiwd 1, 20 Juad



(q Vs AU
With its easily transported, thick-skinned and sweet-tasting fruit, the Gros Michel banana plant dominated
the plantations of Central America. United Fruit, the main grower and exporter in South America at the
time, mass-produced its bananas in the most efficient way possible: it cloned shoots from the stems of
plants instead of growing plants from seeds, and cultivated them in densely packed fields.
Unfortunately, these conditions are also perfect for the spread of the fungus Fusarium oxysporum f. sp.
cubense, which attacks the plant’s roots and prevents it from transporting water to the stem and leaves.
The TR-1 strain of the fungus was resistant to crop sprays and traveled around on boots or the tires of
trucks, slowly infecting plantations across the region. In an attempt to escape the fungus, farmers
abandoned infected fields, flooded them and then replanted crops somewhere else, often cutting down
rainforest to do so.
71- Which of the following is the best title for the passage? [iranarze]
1) United Fruit Bananas 2) A Threat to Bananas
3) Central American Farmers 4) Commercial Banana Growers
72- Which of the following statements is true?
1) The Cavendish was cultivated long before Big Mike.
2) In the 1950s, Central American banana growers lost the Cavendish.
3) The Cavendish dominated the plantations of Central America in the 1950s.
4) United Fruit was the main grower and exporter in South America in the 1950s.
73- The word “its” in paragraph 2 refers to .........c..c.... .
1) the Cavendish 2) sweet - tasting fruit
3) the Gros Michel banana plant 4) Big Mike’s successor
74- The word “them” in paragraph 2 refers to .............. .
1) shoots 2) stems 3) plants 4) seeds
75- The last sentence of the passage talks about the ................ .
1) problems caused by cutting down rainforest
2) new methods of replanting crops somewhere else
3) reason why the farmers should not have left their infected fields

4) solution to overcome the problem the farmers had encountered
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